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COMMON ENTRANCE EXAMINAT!QN AT 13+
MATHEMATICS
'PAPER4
Calculator Paper
Wédnésday 26 Febrnarﬁ 2003

Flease read this ;i_nfdrmétion before the examination starts.

e This examination is 60 minu’tes Iong |

» All questions should be attempted

o ATOow of dots T - denotes a space for your ansuer 7

. Where answers are not exact they should be givento th"ee szg..ux:\:r‘ 'ig;':;‘es\
unless specn‘:ed otherwise. : .

'« The = button on the calculator should be used {or cd}culctrms involing X..

| S.A. 2833128 @ Independent Schools Exam.narons Board




1. (i) Writing down all the figu‘rés“shown on your calcu!ator,-evaluate

28.7 x1.59
15.6-14.3

Answer; | 25 A 02730 189...... .(2)‘ s

(i) (@) Write your answer to part (i) correct fo_1 decimal place. |

----------------------------------------------

 Answer: 29, ALY ”'(1j)

(E) Write your answer to part (i} correct to 1 significant figure.

Answer: 4'6 ..... - '...‘... (1)

2. Year 8 pupils are going on a schodl'trip to an Egyptian
-exhibition. There are 4 classes in Year 8. Each class has
15 children. 9 adults are also going on the trip. ' '

(i) How many people altogether are going on the trip?

15(4)1g <

----------------------------------------------

~ Answer: €9 | 1)
Everyone .Iravreis by minibus.” 7 | . -
‘Each minibus holds 12 passengers and costs £35 to hire, including the driver,
(i) Calculate the total cost of hiring the minibuses.

9 = 5. 75
(2
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;' as shown by the bold lines in the
‘and 90 cm high.




Il
ﬁre trying to find two numbers to solve a puzzle.
rs add to give 30 exactly.

: pa:lr of numbers, each correct to
Jil's puzzle.
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